Teachers Guide

Chapter 16, Section 2

1. C

2. Shared
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3. Beryllium would tend to lose its two electrons to form a chemical bond.

4. The most common oxidation number for group three would be +3.

5. A

6. A

7. B

8. A copper atom (II) bonds with 2 chlorine atoms.

9.  A binary compound is a compound that consists of two elements.

10.  There is 1 atom of Calcium, 1 atom of Carbon, and 3 atoms of Oxygen in a CaCO3 atom.

11.  An ion with more than one atom is called a polyatomic ion.

12.  The oxidation number for peroxide is -2.

13.  To name a binary compound: 1) Write the name of the first element, 2) write the root name of the second element, 3) add the suffix –ide.

14.  To name a compound that has polyatomic ions: 1) Write the name of the first element or polyatomic ion, 2) Write the name of the second element or polyatomic ion second; if the second one is an element, use the root name and the suffix –ide.
